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General Instructions :
Read the following instructions carefully and follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-II questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

Identify the incorrect feature(s) of money supply (M) from the
following : 1
(1) It is measured at a point of time.

(ii) It does not include stock of money held by the government.

(iii) It is always the currency in the hands of the Central Bank of a

nation.
Alternatives :
(A) (1) and (ii) (B) (i1) and (iii)
(C) (i) only (D) (ii1) only

Total consumption expenditure by households under Keynesian Economics
isa combinationof _ ~~ and__ .

(Choose the correct alternative to fill in the blanks) 1
(A)  Autonomous Consumption, Autonomous Investments
(B)  Autonomous Investments, Induced Consumption
(C) Induced Investments, Autonomous Investments
(D)  Autonomous Consumption, Induced Consumption

11-58/1/3 P.T.O.
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(Teh T &1 WA & fore Tt faerew 1 =3m Fifse)

& AR T 7 |

3. T« Afhel ol ugaH Hhifoe 9 Tl faehed 1 o9 HifvT
gH | TH | 3= (80%) STRIETT 79I
(20%)
I 5000 4000 Q).
I1 4000 (). 800
A | L.(HD).. .(iv).. 5000
foepey -
(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000
4. YW dgad (BOP) | 1Ry &1 aredd
(A) TR TA W TR YA
(B) & WItqdl T =Tl @ral Ya
(C)  YSit AT YA T st @rar Sriea
(D) WA YTaE W &R Jiiea
5.  Toreht hreafrer tdegawen & fau am <fifse f .
C =100 + 0-75Y (S&T C =399 9 Y = 3T)
I = 400 (I, = T fiemT)
a9 ek (K) 1 94 g |
(f=h Tom =1 WA & fore @&t fasheq 1 == hifsm)
(A 5 (B) 4
C) 6 (D) 3
11-58/1/3
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3. Find the missing figures and choose the correct alternative : 1
Round Deposits Loans (80%) | Reserve Ratio
(20%)
I 5000 4000 L3)..
II 4000 (). 800
Total .(i1).. .(v).. 5000
Alternatives :
(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000
4., Surplus in Balance of Payments (BOP) refers to the excess of

(Choose the correct alternative to fill in the blank) 1

(A)  Autonomous payments over Autonomous receipts
(B)  Current Account payments over Autonomous receipts
(C)  Capital Account receipts over Capital Account payments

(D)  Autonomous receipts over Autonomous payments

5. Suppose for a hypothetical economy :
C=100+075Y (where C = Consumption and Y = Income)
Iy =400 (I = Autonomous Investment)

Value of Investment Multiplier (K) would be .
(Choose the correct alternative to fill in the blank) 1

(A) 5 B) 4
(C) 6 (D) 3
11-58/1/3 P.T.O.
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6. UH WU f, Th FHede JTIEAT H AMK e T 500 HUS H
3R dqad qUidl & | HTd FEid 1 e T 1200 S 9 T TAE

T 400 FUS 7 |
IS (Merchandise) 31T a1 el T HUS B |
(f=h TIM =1 WA o 7T @it fashed &1 =9 Shifon)

(A) 1700
(B) 750
(C) 700
(D) 900

7.  TAfaRaa weMt 1 eHgE® 3TeE HiIT
o 1 ;A foret srdfegawen #, 3ma % TR § gfg (AY) Bt 7, @ T8 IUHM
% T (AC) T Hed AT &9 & ghg T ¢ft |
Y72 : HHG 99T TG (MPC) d H91d s=d T (MPS) Hed Th-gal
o S BT 3 |
feu U seET % AT H, faiad # 8 wEl faeed w1 =e hifv
(A) HIT 19T 8 3TN HAT 2 3T 8 |
B) HIT 13T 8 M FAT 2T 2B |
(C) YT 13 2gHI Tcd 2 |
(D) $IYF 13 2T FEH B |
8. T=fviflga # o g wfietor i yg=m i .
(A) GDPyp = NNPpc+ JegH™
(B) NDPFC = NNPFC +5\F&' W&TW
(C) GNPyp = GDPyp + Tocer @ urea 3 @ned o1
(D) NNPFC = NDPMP"‘W
9. Tr=afvfiga wemt =i ufeu - s1fiepem (A) 3R R0 (R) | = fou T foepedt ®
@Hﬁl%l%qﬂﬁﬂ
fUFHYT (A) : O TR fRafq & a1t srafess stermd 1 srufeafa @ 2 |
FR (R) : Ul e <61 feurfa o, ot sege 9 "am =afea &1 =frd
THGH & W USR 916 Bl @ |

ﬁ%‘? :

(A) AR (A) 3R FRO (R) HT T & 3 RO (R), b (A) Hi
TE AT 7 |

(B)  AMMHAT (A) 3 ST (R) ST T &, Wohd I (R), T(HHAT (A) <hi
&l e 7E7 3 |

(C) IR (A) TF 7, Wlohd SR (R) I8 3 |
(D) AMHAT (A) TEH &, Wfohd RO (R) T 7 |
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6. Suppose, the Balance of Trade of an imaginary economy shows a
favourable balance of ¥ 500 crore. The values of merchandise exports are
T 1200 crore and transfer payments are ¥ 400 crore.
The value of merchandise imports would be ¥ crore.
(Choose the correct alternative to fill in the blank) 1

(A) 1700
(B) 750
(C) 1700
(D) 900
7. Read the following statements carefully : 1

Statement 1 : If in an economy the level of income increases (AY), it will
always proportionately increase the level of consumption
(AC).

Statement 2 : Marginal Propensity to Consume (MPC) and Marginal
Propensity to Save (MPS) are always equal to each other.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C)  Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

8. Identify the correct equation from the following : 1
(A) GDPyp = NNPpc + Depreciation
(B) NDPpc = NNPpc + Net Indirect Taxes
(C) GNPpyp = GDPpp + Net Factor Income from Abroad
(D)  NNPpc = NDPyp + Depreciation

9. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below : 1
Assertion (A) : Full employment situation refers to absence of

involuntary unemployment.
Reason (R): Under full employment situation, all the willing and able
bodied people get employment at the prevailing wage rate.
Alternatives :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

11-58/1/3 P.T.O.
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10. “feAmh 9 S 2023 %, AYHA Tl THA=S (NSE) % AThel o SIJER, Th HIG
i afy a4, 9 W5 2023 - 9 S 2023, H Taceft €AW fHewmhl (FII) g
T 309 HUS HI Ig forsht 1 77E off |7
ST TH-¢7 WA o JIaH OgeH & _ @Id % _ 9§ H g9l fhdAl

I | (T Tl o 9 & e @) fashew &1 = Fifs)
(A) 41, Sfee (B) USH, shisc
(C) T, shise (D) s, Sfere

11. for fafma ot goreft 9o 7= g < yorelt & 3 37at wase hifsu |

12. (%) TH HedHs Adegazyr & fou = fou mu ifesl & g W, @red
ATTd WX 3G u\iq\scqlq (NDPpc) Hed <pl ATHTH ST

e i (¥ gZ %)
(i) | Eehal SRe] TATRM goit fAmior 400
(i) | Fafd 80
(iii) | ATqH TR T = 500
(iv) | Torft 9t &1 399 70
(v) | Afw =ie] 3THN = 640
ORISR (Inventory) et (Ig) (-) 80
(vii) | 3T 90
(viil) | g STTcILT L 60
(ix) |focsn & ured g R A= 50
Jreran

(@) (1) 3I9IH 3CTEWT 6l TEEAT ° FRIATSTT hl STGURN hT qUIA HITT |
(i) TETe SARRY i giyTia HifSe |

13. (%) “Torelt STeioaeen ®, TeATira €W SYfd, TcATRIG THT HiT § ek 7 17
3IcTed, T F USIIR oh T T 39k YHTE shl SITEHT shifoy |
HAAT

11-58/1/3
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10. “As per the National Stock Exchange (NSE) data, dated 9th June, 2023,
there was a mnet selling off worth < 309 crore by Foreign
Institutional Investors (FIIs) over the period of one month i.e.,
oth May, 2023 — 9th June, 2023.”
The above mentioned transactions will be recorded on ____side of
account of Balance of Payments of India.
(Choose the correct alternative to fill in the blanks) 1
(A)  Debit, Current (B) Credit, Capital
(C)  Credit, Current (D) Debit, Capital

11. Distinguish between fixed exchange rate system and flexible exchange
rate system. 3

12. (a) On the basis of the data given below for an imaginary economy,
estimate the value of Net Domestic Product at Factor Cost

(NDPge) : 3
S. No. Items .Amount
(in < crore)
(i) Gross Domestic Fixed Capital Formation 400
(i) | Exports 80
(iii) | Government Final Consumption 500
Expenditure
(iv) | Consumption of Fixed Capital 70
(v) Household Final Consumption Expenditure 640
(vi) Inventory Investment (Net) (-) 80
(vii) | Imports 90
(viii) | Net Indirect Taxes 60
(ix) | Net Factor Income from Abroad 50
OR

(b) @) Elaborate the concept of Externalities with the help of
suitable example.

(i1))  Define Operating Surplus. 1
13. (a) “In an economy, ex-ante Aggregate Supply is more than ex-ante
Aggregate Demand.”
Explain its impact on the level of output, income and employment. 4
OR

11-58/1/3 P.T.O.
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(@) fAfciRaa arferert &1 g0 HIMT | 3™ 6 T 200 HUS o T T STHM
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o

Hod k1 AT i |

37719 (Y)

(¥ &g 7)

37T ITYIT

0

Y4l (APC)

100

1

200

0-85

300

0-8

e 8 I 2023 % ‘T SHMITS IBF H 3Iggd MHTIRGd &I Wl LAFIEH
HEIA I :

“arta Tl d (RBI) <A <X fafor afufa 3 Tose w9 9 S=wmeh o1 <@ <At
6:5% W AUiEldd Wed &1 vl o= g | gfufa 3 gurem wifgs ifa

o

(Accommodating Monetary Policy) H I9E o W &AM Higd H & U
HagH ferar & 17

few U T 9 g wvE & emuR W A=fafad e % s difve

(%) I9IH T H A TC 3R e i T@ATTC T =<1 hig |

(@) afg o fufor afifs 9 36 @ & *@ A B, @ ggr mufd & Furfaa
a6t ==t HifST |

frafaRaa st 1 g qei g ymfvra il

(%) Toreht srefeoraeen ®, g1 Iod & e o &9 § & Hidl 7 |

(@) ST § Teh AdeTawq § THR o §h o T4 H & T 7 |

(%) U fg-2=eh uied § T & ThH YaTg i FTTUNN H HAY § IR
HIfT |

(@) “Hifgh Hohal WS 391G (GDP) i JaAT H ITEdiosh Hehel =Xq] 3c1G
(GDP) Tereft Trsg hl 3TTieieh |l o1 98 dhash g |
F7 39 feU T HH ¥ HgAd 7 2 fREl Q9 wreue geaTcHe 3eTE
% 1Y AU IT HI gfee Hifre |

(%) TrAfafea w Toea wiftaat stemn dSiva wiftat § anffera e | 3
I o Y& H AY qeh ST

(1) RUT YT 9TH IS |
Gi) T TR rosl <61 fashl @ fafaasr mifcaat |

Page 10
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(b)  Complete the following table. Construct/Express the Consumption
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function at ¥ 200 crore level of income.

2

Income (Y) Savings Average Propensity | Marginal Propensity
(in <crore) | (in Tcrore) | to Consume (APC) to Save (MPS)
0 (=) 30 — —
100 | ...l )
200 | .l 08 |
300 | ...l 08 |
14. Read the following text carefully from ‘The Economic Times’ dated
8th June, 2023 :
“The Reserve Bank of India’s (RBI’s) rate setting panel unanimously
decided to keep the benchmark lending rate unchanged at 6-5%. The
committee voted to remain focused on the withdrawal of accommodating
monetary policy.”
On the basis of given text and common understanding, answer the
following questions :
(a) Identify and discuss the economic issue indicated in the above text.
(b)  Discuss the likely consequence on money supply if the rate setting
panel would have decreased the said rate.
15. Justify the following statements with valid arguments :
(a)  Money serves as a ‘store of value’ in an economy.
(b)  The Central Bank acts as ‘Government’s Bank’ in an economy.
16. (a)  Discuss briefly the concept of circular flow of income in a two-sector
model.
(b)  “Real Gross Domestic Product (GDP) is a better indicator of
economic growth of a nation as compared to the Nominal Gross
Domestic Product (GDP).”
Do you agree with the given statement ? Justify your answer with
a valid hypothetical numerical example.
17. (a) Classify the following as Revenue receipts or Capital receipts. Give
valid arguments in support of your answer :
(i)  Interest received on loan.
(ii) Disinvestment receipts from the sale of a government company. 2
11-58/1/3 Page 11
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(ifi) 9Ra ® afersht f3rem =l UicaTigd i & U w3s Tsg STt
(USA) %R g €1 718 Tt T | 2
AT
@) () = T W AR #1 AHgE® JERH hivY IR FHHfaRed ®
ThH] 3T H deddd &Sl o1 fagayur HIfyu

I el faem 2
ID)  Trr foeem ’ 9
S A (T g #g)
2:30 2021-22 E
5.001 [ ws=a == (RE) 2022-23
4501 gll=se == (BE) 2023-24 &
4.00 .
= o b
2.50 - RN /
2,00 9 o % %
1.50 - S ‘o 89 323% %
1.00-;5;3%55;2? ﬁﬁ'ﬁ%I% Z
050 S .S == . % I
oo IM/R7R R R
T fafafert fererre
(@) (i) T e’ g i T’ & e 3T Tase i | 2

Fie: HEET F97 FacT FIEETIT ghgntdar & o yo7 e 17 @(i) & €9 |
g/
i) Tee & R wr il =aren hif | 4

Qe @
TR 3TTfeies fererma

18. 1970 % T H, UTfhEd™ 3 3794 JTWT T TS IIHTT TohaT o |
(Th T &t WA & fore o} faesheq a1 == Fifsw) 1
(A) Taferean snearfes wt=mT Gad
(B)  3UMIHI S&ga3Ti daeh
(C) Ysfira awgsti get
(D) fosft =R
11-58/1/3
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(iii) Financial assistance by the Government of USA for promoting

girl education in India. 2
OR

(b) @A) Study the following chart carefully and analyse the changing
trends in the government expenditure on :

4} Urban Development 2
(IT) Rural Development 2
TREND OF MAJOR ITEMS OF EXPENDITURE
(< lakh crore)
=
2.501 2021-22 o
igg 1 MMM Revenue Expenditure (RE) 2022-23 -
el Budget Expenditure (BE) 2023-24 &
oy Il Budget Expenditu . -
3.50 A '
2w U
3.00 A @ % /
2.50 - o o S %
. < U
2.00 - = @ < g S % %
A~ T R 05 % % /
1001 5 5 8 %do’/ooo/o / % /
oz I M 7MW 11
izl B V| U V1l Wl ¥
' Social Welfare Urban Health Education  Agriculture and Rural Transport
Development Allied Activities Development
(b) (i) Distinguish between ‘Fiscal deficit’ and ‘Primary deficit’. 2
Note : The following question is for the Visually Impaired Candidates only
in lieu of . No. 17 b(i).
Explain the stabilisation function of the Government Budget. 4

SECTION B
Indian Economic Development

18. In the decade of the 1970s, Pakistan nationalized its industries.
(Choose the correct alternative to fill in the blank) 1
(A)  Medical infrastructure
(B)  Consumer goods
(C)  Capital goods
(D)  Foreign trade

11-58/1/3 Page 13 P.T.O.
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A oMl &1 S d® LT HINT :

Fg7 1 : INUHARGG T & 3ad, N G (I8 od, 8 9 dR
3 o1 Tarehra femam T o |

FYT2 ; VR H AT LT o b o 0 dr<iaes 32 fsifesr f&ai =
g AT AT |

feu U seET % A H, faiad # 8 wE) faeed w1 we hifve
(A) HIT 19T 8 3T HAT 2 3ATH 8 |

(B) W 130T 2 MM FA 2T 2 |

(C) YT 13M 2N T2 |

(D) Y 13 2 gHI 3 7 |

qg=H hifeg fob FHfcAfgd 5 & sH-81 fasheq, iy fauom et & @
W%ﬂmﬁm% :

(A)  TIASH, TSI, FHEHT, FohforT

(B)  3cUTed, HIISH, TEEhRT, UfS

(C)  TAISH, TEERI0T, YehfonT, Iias

(D)  JEERL, Yehfort, UfEm, faawor

frafafaa saAt =1 9feu - 21fieped (A) 3R &R (R) | 9= fou o foekedt #

S7fFYT (A) : TI9a AR WA (WTO) & I8 Ul hl It & T 98 de
TS R MY, T UehalWl 9T A Ufdeen & s & fore
s saTaTies saEem Tefud =Rt |

PRU(R) :  UATE WU & wy-wd, fova 3cared ¥ gfg wem 9 Afvaw
TETEAT T $5aH TN FHTEd AT AHTH 2 |

IEETR I

(A) 3w (A) 3R FROT (R) gHT T § M HROT (R), b (A) h
& ST 7 |

(B)  31heM (A) 3R ST (R) THT T B, WAfehd RO (R), AMHH (A) I
el ST TE7 8 |

(C) 3R (A) FF 7, Wlohd SR (R) I8 7 |

(D)  AMHHAT (A) TEH 7, Wifohd RO (R) T 3 |

11-58/1/3 Page 14
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Read the following statements carefully :

Statement 1 : Under the colonial rule, basic infrastructure (like
railways, post and telegraph etc.) was developed.

Statement 2 : The real motive behind the infrastructural development
in India was to strengthen the British interests.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

Identify which of the following alternatives indicate the incorrect
components combination of Agriculture Marketing System :

(A) Assembling, Storage, Processing, Packaging
(B)  Production, Assembling, Processing, Grading
(C) Assembling, Processing, Packaging, Transportation

(D)  Processing, Packaging, Grading, Distribution

Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below :

Assertion (A) : World Trade Organization (WTO) is expected to establish
the rule-based trading regime, to avoid unilaterally placed
arbitrary restrictions by member nations.

Reason (R) : It is imperative to enlarge world production and ensure
optimum utilization of world resources along with
environmental protection.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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22. fTr=fafaa st =1 ufen - s1firred (A) 3 R (R) | = feu 7o foeredt &
T T fasew ghu 1

S7IFYT (A) : T 4 AU AR & fou fdics gmifees o i 3@
39d HE o T SIS 9 1 39T foram B |

FR(R) : ORI g gMHTNIeh TN 9T o fFmior 9 =1 4 A4
fIerTg Gehdenl § HehNIcHeh giony feu 2 |

ICEXZ IR

(A) AR (A) I HIOT (R) I T & 3 HRUT (R), AR (A) hHi
g ST 2 |

(B) 3T (A) 3R HRUT (R) THT HcT 8, Afehd T (R), MR (A) h
g e 77 B |

(C) IR (A) TF 7, Wohd ST (R) T 7 |

(D)  AMHAT (A) TEH 7, ek BRI (R) T 7 |

23. T=faRaad foshedl # 9, fafafWa SN 99K % @ LW 6l 9ga9H HiT ;1

(i) PRI P ITh IcAGI I T oI Tga™ o A€ fodque Jorredt
A T JHTET ST |

(ii)  HEehi < oI foque P &= § IR I galcansd e |
(iii)  SHSERI ST SATHYT THAT |
(iv) SR I ITehl IUS ohl TUETT d AT H IR HH o faQ galcaniad

AT |
foeped
(A) () AR (i) (B) (1) AR (i)
(©) (i) 3 (iv) (D) (i) 3R (iv)
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22. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below :

Assertion (A) : China has used the market mechanism to -create

additional social and economic opportunities for its

citizens.
Reason (R):  Social infrastructure creation by the government has
brought positive results in human development indicators
in China.
Alternatives :
(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

23. Identify from the following alternatives the imcorrect objectives of

regulated agriculture market :

(1)

To make the marketing system efficient and effective for farmers
to get best price of their products.

(ii)) To discourage improvement of marketing infrastructure for
farmers.

(iii) To prevent exploitation of farmers.

(iv) To discourage farmers from improving quality and quantity of
their produce.

Alternatives :

(A) (1) and (i1) (B) (@) and (iii)

(C)  (iii) and (iv) (D) (i) and (iv)

11-58/1/3 P.T.O.



24, YRA 9 UIhEd H SHE: | Il H 3 IR AT
fepe e 9 |
(Th TAHT I WA o T T@1 forshed T =24 hifT)
(A) 1988, 1978 (B) 1991, 1978
(C) 1991, 1988 (D) 1981, 1991

25. THfRad el 1 SAHYE® AT HIVT -

Fo7 1 : U Ffaest Faeru T (NSSO) F SRS i 38 YR aRwTiua
fopa 2 T o8 9 sraen B, T =afts m & v & SRy fom
HM % @ I 2 Afehd 9 gurfaa Fammett @ sm i aam™ = )@
8 | d %W IR il i Aiser feufadi & dgd M S 6l
3591 /3qeddl h L & |

FYT2 : ARG 0 AITh GG Il TS T I=05d ISR AR T
qEE R |

feu U seET % AT H, fdiad § 9 g&l faeheq 1 =w9F Fifviw -

(A) YT 18T 8 3R HH 2 3WH 7 |

(B) I 13T 8 I FM 2T 2 |

(C) e 1R 23HI 9T & |

(D) 9 13N 2THI 3HA & |

26. UgaH $ifvy for Fefafad § @ i-91 G-20 &1 Hew U TE7 §

(A) SIS
(B)  3Tegferan
(C) STARe:
(D) 3TSIEH
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Economic reforms were introduced in India and Pakistan in the years
and , respectively.

(Choose the correct alternative to fill in the blanks)
(A) 1988, 1978 (B) 1991, 1978
(C) 1991, 1988 (D) 1981, 1991

Read the following statements carefully :

Statement 1 : As per the National Sample Survey Organization (NSSO),
unemployment is a situation in which all those who,
owing to lack of work, are not working, but are seeking
work from prospective employers. They express their
willingness/availability to work under the prevailing

conditions of work and remuneration.
Statement 2 : Disguised Unemployment is generally a massive problem
in a highly populated country like India.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

Identify which of the following is not a member nation of G20 :
(A) Brazil

(B)  Australia

(C) Bangladesh

(D) Argentina

1



27.

28.

29.

30.

[=145 0=
[=. 4

frfafad et 1 afeu - afimred (A) 3R ®rw (R) | F= fou T fospedt #

ﬁﬂﬁﬁ%‘?ﬂﬁm

STYHIT (A) : W dEd TS % Iys fofema 3 58 St ®wdi @l
hread g & Tk e o |

HRU(R) : T & 3 3c91g Jural TR TS Fiaedeichehdl § 9R
ST ATs8E UTed i | &<l UM 9l i off |

ﬁW‘f{ :

(A) AHAT (A) 3 SR (R) ST TcF 8 3 SR (R), 0MheA (A) HI
g SATE 7 |

(B) 3T (A) 3T RUT (R) T T &, SAfehd ST (R), AMMHAT (A)
&l e 7E7T 3 |

(C) AMMHAT (A) T B, Afehd R (R) 3T B |

(D) 3R (A) 3T 8, Afehd HRUT (R) TF 2 |

“ara ®, Ted fren fifa 2020 7 Rt % Aarerredia gfvger | sraiys 9
ﬁ_q.l.%l”
(i) 39U ®eH H 3@ AHa S FE0 (HCF) % @i hl 989 i |

(i) 9 & 21ffer fam™ W 3@ @ia & guifad g9l <l fIear 9 s
iy |

(%) “sTafEfes i o E ST & o feerdr (fdgiEdn) Qe w8 off 17

F7 39 U U HYH U TEHA @ 2 9Y dehl gl A9 ST T Iy fug
ST |

AT

(@) 31 Frul @ famar @ saee e s B o o i fifa
Tehed, 1956 % dad [df=arHd foham =T o |

(%) 9Ra & ymfior & ° ger-are (ifaerg-arg) e & el g @i @
Joolg hifaT |
(@) “Gaam feufa #, 9Ra <9 U § @ g I B HOgEAn SR
Tyl e FaTd 7 17
feu u oM w1 3ifae fag Fifse |
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27. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below :

Assertion (A) : The excessive regulation of permit license raj prevented

certain private firms from becoming fairly competitive.

Reason (R):  Private sector wasted huge amounts in obtaining licenses

rather than on improving the product quality and
international competitiveness.

Alternatives :

(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

28. “In India, National Education Policy 2020 has stressed a lot on in-service
training of the teachers.”

1)

(i1)

29. (a)
(b)

30. (a)
(b)

11-58/1/3

Identify the source of Human Capital Formation (HCF) indicated
in the aforesaid statement.

Elaborate the likely impacts of this source on the economic
development of India.

“During the colonial period the agricultural sector showed massive
stagnation.”

Do you agree with the given statement ? Justify your answer with
valid arguments.

OR

Elaborate the reasons owing to which the private sector was
regulated under the Industrial Policy Resolution, 1956.

State any two advantages of micro-credit system in rural areas of
India.

“In the current situation, Information Technology plays a vital role
in achieving food security in a nation like India.”

Justify the given statement.

Page 21 P.T.O.



31. ()
(@)
32. (%)
(@)
11-58/1/3

[=1430s

o

“Os Tsg & anfdes @ e Ame & faumn 9 ¥g weha fow @ T
A 3T 2023 & HE § IH bl 10 g, fovd &1 g9 3o

STEET ATl TS o T 8 17

=9 g 1970 < T3k H IYATS TS Tohed-oTAh H11d o TRUMHT shl AT
HIY |

= 61 i wefg W foRIv 31iefe & (SEZ) % JWmEi shi == HiY |

Y TRl g Ioai@ d AT shifore for fAmaferfaa sem gry 2 @1 srae

(i) B U, YA SR A o gaeEi o $eay e % o
SH-gF JISHT S s HgwqUl hed 33TT & |

(i)  =ftes — SaEn Igu fopeft Tsg ® e st feufa @1 faroermmn
0 o fT 3T fopan ST SITelT Wk Hohdeh B |

AT

(i) ¥Rd § #fgen e = deandd s hl AR I e

T |

(i) RPN vEER e # fafadientor wfafafe™ & fhmal a1 3o
1 e HINT |
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“United Nations Department of Economic and Social Affairs

indicated that India has overtaken China as the world’s most

populous country in the month of April 2023.”

Explain the consequences of one-child policy adopted by China in
the 1970s.

Discuss the impacts of Special Economic Zones (SEZs) on the

economic growth of China.

State and elaborate whether the following statements are true or

false, with valid arguments :

(1) In the recent past, the Government of India has taken
crucial steps, like Jan-Dhan Yojana, for efficient allocation

of financial resources.
(ii)  Worker — population ratio is an indicator, used for analyzing

the employment situation in a nation.

OR

(1) Elaborate the need to promote women’s education in India.

(i)  Mention any two examples of diversification activities in the

non-agro processing industries.

Page 23 P.T.O.
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33.

34.
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A

(F) () “URT TR R 33T T IgRIHO YR o Aad, AR T
fraw fifd gar 1ra ggyet of 1”7
AT dehl g1 feU T R R Wed 319aT gHeH iy |
(i) “gia wifd & &g W 1990 % <H o WRA 1 65 Ffawa
SEEAT Y &=k | o @17
3y depi g0 feu T e o1 3ifue fag il |

HAYAT
(@) () “ 995 % ¢ 989 8 & — PN UGH W 5gd off TA1 & T
3chte 3T 3 |7
Y IUCH TR W & 94 9 fauer # Qg1 Topl @lgd €T T HaA
1 gfee Hife |
(i) WA 3Tk ASHT % 3L & &9 H “GAaT &% A1 T9Lg h
A& I 3o01@ hiT |

frefeifad ma 1 SFyEs AeRH HINT ¢

WA § 9y q91 9 9GO ohl g THE Wi farst 9 fded % forg
TR A 1974 ¥ e TG0 I §€ (CPCB) shi 191 61 | 30 a1q, U
TR W w qaferely fodreti § Moed o g Tsai 9 3194-319 918 s/ | 3
d1€ (CPCB) 5, a1 3R Y YguU ¥ Hald Fersll 1 oo AR faa
A 2 | 3 FR /AR Fepmm 3 IcasH o A Huifid wd 2 | 3 98 Wi
1 A TG % Uk, FEA0r 3R o fou Sar-amusti g Afet stk s
HI TWeHdl & YT & I qehichl TERAT YgH L & | 3Th SR a
o H gUR T B | A SN W 9y YGNU o (RE0 g W R Rl dehHTeh

< &
HAalddl HAGlH enld % |

Y 9IS A F 91 UGN § Hetud GEEATSA i A9 9 AEUH Ht Fd @
3R UE W9 9 AU Sl TG Hid @ | $Heh € o I H9R o 9199 9
S SITTEehdl i Tfd #id & | PCB %=X 9 dTfiey 3ufirsei o faem
3N IT=R & Feted e, dfgdn 3R Anieeieh gieeh dIf Hid & |
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(a) 1) “Under the liberalisation measures taken by the Government
of India, Trade and Investment Policy reforms were extremely
crucial.”

Reject or support the given statement with valid arguments.

(i1))  “Despite the implementation of Green Revolution, 65 per cent
of India’s population continued to be engaged in the
agriculture sector till the 1990s.”

Justify the given statement with valid explanation.
OR

(b) @) “Every coin has two sides — debate over farm subsidies is one
such classic example of the same.”
Justify the given statement with two arguments each in
favour of and against the continuation of the farm subsidies.

(ii)  State the importance of “Growth with equity” as the objective
of Indian economic planning.

Read the following text carefully :

In order to address two major environmental concerns in India, viz.
water and air pollution, the government set up the Central Pollution
Control Board (CPCB) in 1974. This was followed by states establishing
their own state level boards to address all the environmental concerns.
They investigate, collect and disseminate information relating to water,
air and land pollution, lay down standards for sewage/trade effluent and
emissions. These boards provide technical assistance to governments in
promoting cleanliness of streams and wells by prevention, control and
abatement of water pollution, and improve the quality of air and to
prevent, control or abate air pollution in the country.

These boards also carry out and sponsor investigation and research
relating to problems of water and air pollution and for their prevention,
control or abatement. They organize, through mass media, a
comprehensive mass awareness programme for the same. The PCBs
prepare manuals, codes and guidelines relating to treatment and disposal
of sewage and trade effluents.



[=1430s
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3T & fafem g1 9 a1y et 1 qdiehd hd & | 9rad § 310
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AT sTavash gsayfi q9n 9Ty UrEE SAfehe Wi YEH AT B |

TGUUl Ul SE Wi WGWUl W eI dehdlehl 3TN WIfETh Hihg I
Gehetd, GUTe R faawor otd & | 3 125 i (sud Iwfear ot wfie §), 3,
e, @TEt, e, d, AT 3R T80 B el I ure i SElE Hd 8 |

few T 9 gm= FE % R W AEfafga gt % s A
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(CPCB) h1 T i T8 off |

(@) <o yguu frEm 91 (CPCB) g o M ot fohedl @ sl h
ST HITT |

()  9Ra g g faemm gifvad & o faw smam w8 foaedl g1 worifaet
%1 JUH HIFT |
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They assess the air quality through regulation of industries. In fact,
state boards, through their district level officials, periodically inspect
every industry under their jurisdiction to assess the adequacy of
treatment measures provided to treat the effluent and gaseous emissions.

It also provides background air quality data needed for industrial siting

and town planning.

The pollution control boards collect, collate and disseminate
technical and statistical data relating to water pollution. They monitor
the quality of water in 125 rivers (including the tributaries), wells, lakes,
creeks, ponds, tanks, drains and canals.

On the basis of the given text and common understanding, answer the
following questions :

(a) State any two concerns owing to which the Central Pollution
Control Board (CPCB) was established.

(b) Explain any two functions performed by the Central Pollution
Control Board (CPCB).

(c)  Elaborate any two strategies to ensure sustainable development as

adopted by India.
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Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination,2024

ECONOMICS (SUBJECT CODE - 030)
(PAPER CODE - 58/1/3)

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious
problems which may affect the future of the candidates, education system and teaching
profession. To avoid mistakes, it is requested that before starting evaluation, you must
read and understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of
the examinations conducted, Evaluation done and several other aspects. Its’
leakage to public in any manner could lead to derailment of the examination
system and affect the life and future of millions of candidates. Sharing this
policy/document to anyone, publishing in any magazine and printing in News
Paper/Website etc may invite action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and due marks
be awarded to them. In Class XIl, while evaluating competency-based questions,
please try to understand given answer and even if reply is not from marking
scheme but correct competency is enumerated by the candidate, due marks should
be awarded.

The Marking scheme carries only suggested value points for the answers.These are in
the nature of Guidelines only and do not constitute the complete answer. The students
can have their own expression and if the expression is correct, the due marks should be
awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after delibration and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

Evaluators will mark( \' ) wherever answer is correct. For wrong answer CROSS ‘X” be
marked. Evaluators will not put right (v') while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.
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7 If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the
left-hand margin and encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin
and encircled. This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11 A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the
answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Guidelines).

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:- Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e \Wrong question wise totaling on the title page.

e Leaving answer or part thereof unassessed in an answer book.

e \Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (O)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over
to the title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on

payment of the prescribed processing fee. All Examiners/Additional Head
Examiners/Head Examiners are once again reminded that they must ensure that
evaluation is carried out strictly as per value points for each answer as given in the
Marking Scheme.
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MARKING SCHEME

Senior Secondary School Examination 2024
ECONOMICS (Subject Code-030)
[Paper Code : 58/1/3]

Maximum Marks: 80

EXPECTED ANSWER / VALUE POINTS

Marks

SECTION -A
(Macro Economics)

Identify the incorrect feature(s) of money supply (M1) from the following:
(i) It is measured at a point of time.

(ii) 1t does not include stock of money held by the government.

(iii) It is always the currency in the hands of the Central Bank of a nation.
Alternatives:

(A) (i) and (ii) (B) (ii) and (iii)

(C) (ii) only (D) (iii) only

Ans. (D) (iii) only

Total consumption expenditure by households under Keynesian Economics is a combination
of and : (Choose the correct alternative to fill in the blanks)
(A) Autonomous Consumption, Autonomous Investments

(B) Autonomous Investments, Induced Consumption

(C) Induced Investments, Autonomous Investments

(D) Autonomous Consumption, Induced Consumption

Ans. (D) Autonomous Consumption, Induced Consumption

Find the missing figures and choose the correct alternative:

Round Deposits Loans (80%) Reserve Ratio
(20%)

I 5000 4000 (i)..

I 4000 -.(i0).. 800

Total (). .(iv).. 5000
Alternatives:

(A) 1000, 800, 20000, 25000

(B) 5000, 3200, 25000, 20000

(C) 1000, 3200, 25000, 20000

(D) 1000, 800, 20000, 25000

Ans. (C) 1000, 3200, 25000, 20000

Surplus in Balance of Payments (BOP) refers to the excess of .
(Choose the correct alternative to fill in the blank)
(A) Autonomous payments over Autonomous receipts
(B) Current Account payments over Autonomous receipts
(C) Capital Account receipts over Capital Account payments
(D) Autonomous receipts over Autonomous payments
Ans. (D) Autonomous receipts over Autonomous payments

Suppose for a hypothetical economy:
C =100 + 0-75Y (where C = Consumption and Y = Income)
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lo = 400 (lo = Autonomous Investment)
Value of Investment Multiplier (K) would be .
(Choose the correct alternative to fill in the blank)
(A)5 (B) 4
(C)6 (D) 3
Ans. (B) 4

Suppose, the Balance of Trade of an imaginary economy shows a favourable balance of
500 crore. The values of merchandise exports are X 1200 crore and transfer payments are
%400 crore. The value of merchandise imports would be X crore.

(Choose the correct alternative to fill in the blank)
(A) 1700
(B) 750
(C) 700
(D) 900
Ans. (C) 700

Read the following statements carefully:

Statement 1: If in an economy the level of income increases (AY), it will always
proportionately increase the level of consumption (AC).

Statement 2: Marginal Propensity to Consume (MPC) and Marginal Propensity to Save
(MPS) are always equal to each other.

In the light of the given statements, choose the correct alternative from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (D) Both Statements 1 and 2 are false.

Identify the correct equation from the following:

(A) GDPwmp = NNPgc + Depreciation

(B) NDPrc = NNPrc + Net Indirect Taxes

(C) GNPwmp = GDPwmp + Net Factor Income from Abroad

(D) NNPrc = NDPwp + Depreciation

Ans. (C) GNPwmp = GDPwmp + Net Factor Income from Abroad

Read the following statements - Assertion (A) and Reason (R). Choose the correct alternative
given below:

Assertion (A): Full employment situation refers to absence of involuntary unemployment.
Reason (R): Under full employment situation, all the willing and able bodied people get
employment at the prevailing wage rate.

Alternatives:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

10.

“As per the National Stock Exchange (NSE) data, dated 9" June, 2023, there was a net selling

off worth X 309 crore by Foreign Institutional Investors (FIIs) over the period of one month
i.e., 9" May, 2023 - 9" June, 2023.”

XIl_030_58/1/3_Economics_2024 # Page-4




The above mentioned transactions will be recorded on side of
account of Balance of Payments of India. (Choose the correct alternative to fill in the blanks)

(A) Debit, Current (B) Credit, Capital
(C) Credit, Current (D) Debit, Capital
Ans. (D) Debit, Capital 1

11. |[Distinguish between fixed exchange rate system and flexible exchange rate system.
Ans. Under the Fixed Exchange Rate System, the foreign exchange rate is fixed by the | 1%
government. This exchange rate system helps in maintaining stability in the value of the
domestic currency vis-a-vis foreign currencies.
Whereas;

Under the Flexible Exchange Rate System, the foreign exchange rate is determined by | 1%
the interaction of market forces of demand and supply. Flexible exchange rate keeps
fluctuating according to the demand and supply.

12. | On the basis of the data given below for an imaginary economy, estimate the value of Net
(@) | Domestic Product at Factor Cost (NDPrc):

S.No. Items Amount
(in crore)
(i) | Gross Domestic Fixed Capital Formation 400
(it) | Exports 80
(iii) | Government Final Consumption Expenditure 500
(iv) | Consumption of Fixed Capital 70
(v) | Household Final Consumption Expenditure 640
(vi) | Inventory Investment (Net) (-)80
(vii) | Imports 90
(viii) | Net Indirect Taxes 60
(ix) | Net Factor Income from Abroad 50

Ans. Net Domestic Product at Factor Cost (NDPrc) = (v)+(iii)+(i)+(vi)+(ii-vii)-(iv)-(viii) | 1%
=640+500+400+(-80)+(80-90)-70-60 1
=3 1,320 crore Y

OR 3

(b) | Elaborate the concept of Externalities with the help of suitable example.
(1) | Ans. Externalities refer to benefits/harms which are caused by one entity to another | 1%
without being paid/ penalised for it.
For example: Newly developed public park Y
(Any other relevant example to be awarded marks)
(it) | Define Operating Surplus.
Factor income earned in the form of rent, royalties, interest and profits are together 1
called ‘Operating Surplus’.

13. |“In an economy, ex-ante Aggregate Supply is more than ex-ante Aggregate Demand.”
(@) |Explain its impact on the level of output, income and employment.
Ans. In an economy, if ex-ante Aggregate Supply is more than ex-ante Aggregate
Demand, it implies that households are planning to consume less than what the firms
expected them to. This will lead to an unintended rise in inventories. To restore the 4
desired level of inventories, producers may plan to reduce production. As a result, there
may be a decrease in the level of output, employment and income in the economy.

(To be marked as a whole)
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(b)

OR

Complete the following table. Construct/Express the Consumption function at X 200 crore

level of income.

Income (Y)
(in X Crore)

Savings
(in T Crore)

Average Propensity to
Consume (APC)

Marginal Propensity to
Save (MPS)

0

(-) 30

100

1

200

0.85

300

0.8

Ans.

Income ()
(in X Crore)

Saving
(in T Crore)

Average Propensity to
Consume (APC)

Marginal Propensity
to Save (MPS)

0

(-) 30

100

0

1

0.3

200

30

0.85

0.3

300

60

0.8

0.3

Consumption function, C=¢ +DbY

C=30+0.7Y

(Alternate answer for which marks may be awarded-Consumption at ¥ 200 crore level of income = X 170)

Working Note:

At an income level of ¥ 200 crore, Marginal Propensity to Save (MPS) = 0.3 and
Marginal Propensity to Consume (MPC) = 1- MPS =1-0.3=0.7

(Marks not to be deducted if working note is not given)

X6

14.

()

(b)

Read the following text carefully from ‘The Economic Times’ dated 8" June, 2023:

The Reserve Bank of India’s (RBI’s) rate setting panel unanimously decided to keep the
benchmark lending rate unchanged at 6-5%. The committee voted to remain focused on the
withdrawal of accommodating monetary policy.

On the basis of given text and common understanding, answer the following questions:
Identify and discuss the economic issue indicated in the above text.
Ans. Inflation in the economy may be the economic issue indicated in the above text.

The situation of excess demand may be the underlying cause behind the decision taken
by the Reserve Bank of India (RBI) to keep the benchmark lending rate unchanged at
6-5%. (Any other valid economic issue may be awarded marks)

Discuss the likely consequence on money supply if the rate setting panel would have
decreased the said rate.

Ans. If the rate setting panel would have decreased the benchmark lending rate, the
commercial banks may reduce their lending rates. Consequently, it may encourage the
borrowings by the general public leading to an increase in the money supply in the
economy.

15.
(@)

Justify the following statements with valid arguments:
Money serves as a ‘store of value’ in an economy.
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AnNs. Money in the form of wealth can be stored easily for future use. Money is the most
convenient and economical way to transfer purchasing power from present to future 2
use. It is durable in nature and occupies less space for storage.

(b) |The Central Bank acts as ‘Government’s Bank”’ in an economy.

Ans. The Central Bank acts as a banker to both central as well as state governments.
The Central Bank maintains account, accepts receipts and makes payments for the 2
government and carries out exchange, remittance and other banking operations. It
advances credit/loan to the government to meet its requirements in case of crisis.

16. | Discuss briefly the concept of circular flow of income in a two-sector model.

(@ | Ans. In a two-sector economy model, households are the owners of factors of
production (Land, Labour, Capital, Entrepreneur). Firms combine these factors of
production to produce goods and services. They make factor payments (Rent, wages, 3
Interest, Profits) to households, which in turn, are spent by the households on the
consumption of final goods and services.

Thus, the income earned by the factors of production flows back to the production units
in the form of aggregate consumption expenditure. Thereby, completing the circular
flow of income. (To be marked as a whole)

(b) | “Real Gross Domestic Product (GDP) is a better indicator of economic growth of a nation
as compared to the Nominal Gross Domestic Product (GDP).”

Do you agree with the given statement? Justify your answer with a valid hypothetical
numerical example.

Ans. Yes. Real Gross Domestic Product (GDP) is the money value of all the final goods
and services produced in the domestic territory of an economy, measured at base year
prices. Whereas, Nominal Gross Domestic Product (GDP) is money value of all the final 3
goods and services produced in the domestic territory of an economy, measured at
current year prices.

For example:
Year Price Output Real GDP Nominal GDP
(in %) (in units) (PoQ1) (P1Q1)
2010 10 100 1,000 1,000
(Base Year)
2011 15 100 1,000 1,500
(Current Year)

Real GDP is a better indicator to make comparison in terms of physical output and it
eliminates the effect of price change.
(To be marked as a whole)

17. | Classify the following as Revenue receipts or Capital receipts. Give valid arguments in
(@) | support of your answer:

(i) Interest received on loan.

(ii) Disinvestment receipts from the sale of a government company.

(i) Financial assistance by the Government of USA for promoting girl education in India.
Ans.

(i) Interest received on loan is a revenue receipt because it neither creates any liability 2
nor causes a reduction in assets of the government.
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(ii) Disinvestment receipts from sale of a government company are capital receiptsasit| 2
causes a reduction in assets of the government.
(iii) Financial assistance by the Government of USA for promoting girl education in 2
India is a revenue receipt as it neither creates any liability nor causes a reduction in
assets of the government.

OR 6

(b) | Study the following chart carefully and analyse the changing trends in the government
(i) | expenditure on:
(I) Urban Development
(1) Rural Development
TREND OF MAJOR ITEMS OF EXPENDITURE

(Z lakh crore)
~

8.501 2021-22 5
5.001 [} Revenue Expenditure (RE) 2022-23

3.50 1
3.00 1
2.50 4
2.00 1
150 1
1.001 =
0.501
0.00 -

3.90

m

Social Weifare  Urban Health ducation  Agricelture and Haral Transport
Development Allied Activities  Development

Ans. As indicated in the given chart:

(1) Urban Development: The expenditure on urban development accounted for X 1.07
lakh crore in the year 2021-22. In the year 2022-23, revenue expenditure of X 0.75 lakh 2
crore was allocated for this sector. Out of the total budget expenditure in the year 2023-
24,2 0.76 lakh crore was allocated for the development of this sector.

(1) Rural Development: In the year 2021-22, the expenditure on rural development
accounted for X 2.29 lakh crore. In the year 2022-23, of the total revenue expenditure I 2
2.43 lakh crore was allocated for rural development. X 2.38 lakh crore was allocated for
the development of rural sector from the total budget expenditure in the year 2023-24.

(b) Distinguish between ‘fiscal deficit” and ‘primary deficit’.

(i) | Ans. Fiscal deficit refers to excess of the government’s total expenditure over its total 1
receipts excluding borrowing for a fiscal year.
Whereas;
Primary Deficit refers to the difference between fiscal deficit and interest payments 1

Note: The following question is for the Visually Impaired Candidates only in lieu of Q. No.
17 b (i).

Explain the stabilisation function of the Government Budget.

Ans. If an economy is facing fluctuations in income, employment and prices
(inflation/deflation), the government may push for correction of the situation using
budgetary (taxes/public expenditure) policies. The same may be undertaken by 4
working on the level of Aggregate Demand, relating to the spending decisions of
households and firms. (To be marked as a whole)
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SECTION -B
(Indian Economic Development)

18.

In the decade of the 1970s, Pakistan nationalized its industries.
(Choose the correct alternative to fill in the blank)
(A) Medical infrastructure
(B) Consumer goods
(C) Capital goods
(D) Foreign trade
Ans. (C) Capital goods

19.

Read the following statements carefully:

Statement 1: Under the colonial rule, basic infrastructure (like railways, post and telegraph
etc.) was developed.

Statement 2: The real motive behind the infrastructural development in India was to
strengthen the British interests.

In the light of the given statements, choose the correct alternative from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (C) Both Statements 1 and 2 are true.

20.

Identify which of the following alternatives indicate the incorrect components combination
of Agriculture Marketing System:

(A) Assembling, Storage, Processing, Packaging

(B) Production, Assembling, Processing, Grading

(C) Assembling, Processing, Packaging, Transportation

(D) Processing, Packaging, Grading, Distribution

Ans. (B) Production, Assembling, Processing, Grading

21.

Read the following statements- Assertion (A) and Reason (R). Choose the correct alternative
given below:

Assertion (A): World Trade Organization (WTQ) is expected to establish the rule-based
trading regime, to avoid unilaterally placed arbitrary restrictions by member nations.

Reason (R): It is imperative to enlarge world production and ensure optimum utilization of
world resources along with environmental protection.

Alternatives:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

22,

Read the following statements- Assertion (A) and Reason (R). Choose the correct alternative
given below:

Assertion (A): China has used the market mechanism to create additional social and economic
opportunities for its citizens.

Reason (R): Social infrastructure creation by the government has brought positive results in
human development indicators in China.

Alternatives:
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(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Ans. (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A)

23. |ldentify from the following alternatives the incorrect objectives of regulated agriculture
market:
(i) To make the marketing system efficient and effective for farmers to get best price of their
products.
(i) To discourage improvement of marketing infrastructure for farmers.
(iii) To prevent exploitation of farmers.
(iv) To discourage farmers from improving quality and quantity of their produce.
Alternatives:
(A) (i) and (ii) (B) (i) and (iii)
(C) (iii) and (iv) (D) (ii) and (iv)
Ans. (D) (ii) and (iv)
24. |Economic reforms were introduced in India and Pakistan in the years and
, respectively. (Choose the correct alternative to fill in the blanks)
(A) 1988, 1978 (B) 1991, 1978
(C) 1991, 1988 (D) 1981, 1991
Ans. (C) 1991, 1988
25. |Read the following statements carefully:
Statement 1: As per the National Sample Survey Organization (NSSO), unemployment is a
situation in which all those who, owing to lack of work, are not working, but are seeking
work from prospective employers. They express their willingness/availability to work under
the prevailing conditions of work and remuneration.
Statement 2: Disguised Unemployment is generally a massive problem in a highly populated
country like India.
In the light of the given statements, choose the correct alternative from the following :
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.
Ans. (C) Both Statements 1 and 2 are true.
26. |ldentify which of the following is not a member nation of G20:
(A) Brazil
(B) Australia
(C) Bangladesh
(D) Argentina
Ans. (C) Bangladesh
27. |Read the following statements- Assertion (A) and Reason (R). Choose the correct alternative

given below:

Assertion (A): The excessive regulation of permit license raj prevented certain private firms
from becoming fairly competitive.

Reason (R): Private sector wasted huge amounts in obtaining licenses rather than on
improving the product quality and international competitiveness.
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Alternatives:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 1
explanation of Assertion (A).

28. |“In India, National Education Policy 2020 has stressed a lot on in-service training of the
teachers.”

(i) (ldentify the source of Human Capital Formation (HCF) indicated in the aforesaid statement.
Ans. On-the-job training is the source of Human Capital Formation (HCF) indicated in 1
the aforesaid statement.

(ii) |Elaborate the likely impacts of this source on the economic development of India.

Ans. On-the-job training has become an integral part of work environment in the recent
times as it enhances the productive capacity of employees. It enables employees to 2
develop skills and adapt to modern technologies. As a result of on-the-job training, an
employee is likely to contribute more productively leading to the economic development
of India.

29. |“During the colonial period the agricultural sector showed massive stagnation.”

(a) [Do you agree with the given statement. Justify your answer with valid arguments.

Ans. During British rule, the agriculture sector showed massive stagnation due to the
following reasons:

e The colonial government introduced the Land Settlement system. The
zamindars used to exploit cultivators by extracting a major portion of the
produce in the form of rent leading to misery among the farmers. 3

e Lackofirrigation facilities and low level of technology contributed to the dismal
level of agricultural productivity, which added up to aggravate the plight of the
farmers. (To be marked as a whole)

(Any other valid reason to be allotted marks)

OR
(b) |Elaborate the reasons owing to which the private sector was regulated under the Industrial
Policy Resolution, 1956.
Ans. The Industrial Policy Resolution, 1956 regulated the private sector through a
system of licenses. This policy aimed at achieving regional equality. The government
made it relatively easier to obtain an industrial license, for industrial units to be 3
established in economically backward areas.
Moreover, to ensure judicious use of resources owned by the private sector, licenses
were needed for expanding/diversifying output by existing industrial units.

(To be marked as a whole)

30. | State any two advantages of micro-credit system of financing in rural areas of India.

(@) | Ans. Two advantages of micro-credit system of financing in rural areas of India are:
e Women empowerment Ya
e Easy availability of credit (Any other valid advantage to be awarded marks) Ya
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(b) | “Inthe current situation, Information Technology plays a vital role in achieving food security
in a nation like India.”

Justify the given statement.

Ans. In India, Information Technology (IT) plays a crucial role as government can
predict areas of food insecurity and vulnerability using appropriate information and
software tools. It helps in disseminating information regarding emerging technologies 3
and their applications, prices, weather and soil conditions for growing different crops
etc. Hence, IT plays a vital role in achieving sustainable development and food security
in a nation like India. (To be marked as a whole)

31. | “United Nations Department of Economic and Social Affairs indicated that India has
(@) | overtaken China as the world’s most populous country in the month of April 2023.”
Explain the consequences of one-child policy adopted by China in the 1970s.

In the late 1970’s, owing to the population explosion and the subsequent socio-economic
concerns, China adopted the One Child Norm. This policy led to a sharp decline in its 2
population growth rate. In addition to this, the sex ratio declined. Furthermore, the
implementation of the one-child norm led to increase in the population of elderly people
in proportion to young people.

(b) | Discuss the impacts of Special Economic Zones (SEZs) on the economic growth of China.
Ans. The setting up of Special Economic Zones (SEZs) in China led to a substantial
increase in foreign direct investment in the economy. With the massive inflow of foreign 2
capital and technology in China, the productive capacity increased thereby contributing
to the rapid economic growth of China.

32. | State and elaborate whether the following statements are true or false, with valid arguments:
(@) | In the recent past, the Government of India has taken crucial steps, like Jan-Dhan Yojana,
(i) | for efficient allocation of financial resources.

Ans. True, the Government of India has implemented schemes like Jan-Dhan Yojana, 2
which has promoted thrift habits and efficient allocation of financial resources. The
formal banking system has been benefitted by mobilization of a substantial amount
under this yojana.

(it) | Worker-population ratio is an indicator, used for analyzing the employment situation in a
nation.

Ans. True. Worker-population ratio is useful in knowing the proportion of population
that is actively contributing to the production of goods and services of a country. If the 2
ratio is higher, it means that a greater number of people are employed and vice versa.

OR

(b) | Elaborate the need to promote women’s education in India.

Q) Ans. Promoting women's education in India is imperative for societal progress and
gender equality. Educated women contribute to economic growth by entering the
workforce and making informed decisions about their lives. Moreover, educating 3
women makes a favourable impact on the fertility rate and health care of women and
children. Hence, investing in women's education uplifts communities and drives
sustainable development across India.

(ii) | Mention any two examples of diversification activities in the non-agro processing industries.
Ans. Examples of diversification activities in the non-agro processing industries are:
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e Fisheries Ya
e Animal Husbandry (Any other valid example to be awarded marks) | %

33. | “Under the liberalisation measures taken by the Government of India, Trade and Investment
(a) | Policy reforms were extremely crucial.”

Q) Reject or support the given statement with valid arguments.

Ans. The given statement is supported. Trade and Investment Policy of India were
extremely crucial and had undergone comprehensive changes in the post reforms
period of 1991. Liberalisation of this policy led to an increase in international 3
competitiveness of industrial production and inflow of foreign investments and
technology. These policy reforms aimed at dismantling the structure of quantitative
restrictions, reducing tariffs and relaxation in licensing procedure in foreign trade.
Export duties were rationalised with an objective to promote exports of Indian goods
in international markets. (To be marked as a whole)
(i) | “Despite the implementation of Green Revolution, 65 per cent of India’s population
continued to be engaged in the agriculture sector till the 1990s.”

Justify the given statement with valid explanation.

Ans. Some economists argue that Green Revolution did not make much impact on the
occupational structure of the country, as 65% of India’s population continued to find 3
its livelihood in agriculture. A major reason for this fairly large proportion of
population in agricultural sector as the industrial and service sector were not able to
absorb the people working in the agricultural sector. (To be marked as a whole)

OR 6

(b) | “Every coin has two sides - debate over farm subsidies is one such classic example of the

Q) same.”

Justify the given statement with two arguments each in favour of and against the

continuation of the farm subsidies.

Ans. The introduction of farm subsidies had been an opinionated step taken by the

Government of India.

Arguments in favour of continuing farm subsidies:

e Eliminating subsidies may increase inequalities of income between rich and poor 1
farmers.

e Most farmers (small and marginal) may not be able to afford expensive agricultural 1
inputs without subsidies.

Arguments against farm subsidies:

e Itisoften argued that farm subsidies have helped the fertilizer industry much more 1
than helping the needy farmers.

e Economists argue that subsidies are a huge burden on government’s finances. 1

(i) | State the importance of “Growth with equity” as the objective of Indian economic planning.
Ans. For a nation, both growth of Gross Domestic Product (GDP) and equity in
distribution of income are equally important. Growth refers to an increase in a
country’s capacity to produce goods and services. Equity refers to reductions in 2
inequality of income and wealth.

Growth with equity ensures that the fruits of economic development are enjoyed by all
sections of society equitably. Hence, achieving equitable growth is an important
objective that was taken into consideration in the Indian economic planning.
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34. | Read the following text carefully:

In order to address two major environmental concerns in India, viz. water and air pollution,
the government set up the Central Pollution Control Board (CPCB) in 1974. This was
followed by states establishing their own state level boards to address all the environmental
concerns. They investigate, collect and disseminate information relating to water, air and
land pollution, lay down standards for sewage/trade effluent and emissions. These boards
provide technical assistance to governments in promoting cleanliness of streams and wells
by prevention, control and abatement of water pollution, and improve the quality of air and
to prevent, control or abate air pollution in the country.

These boards also carry out and sponsor investigation and research relating to problems of
water and air pollution and for their prevention, control or abatement. They organize, through
mass media, a comprehensive mass awareness programme for the same. The PCBs prepare
manuals, codes and guidelines relating to treatment and disposal of sewage and trade
effluents.

They assess the air quality through regulation of industries. In fact, state boards, through
their district level officials, periodically inspect every industry under their jurisdiction to
assess the adequacy of treatment measures provided to treat the effluent and gaseous
emissions. It also provides background air quality data needed for industrial siting and town
planning.

The pollution control boards collect, collate and disseminate technical and statistical data
relating to water pollution. They monitor the quality of water in 125 rivers (including the
tributaries), wells, lakes, creeks, ponds, tanks, drains and canals.

On the basis of the given text and common understanding, answer the following questions:
(a) | State any two concerns owing to which the Central Pollution Control Board (CPCB) was
established.
Ans. Two major concerns owing to which the Central Pollution Control Board (CPCB)
was established were:
e Water pollution Yo
e Air pollution (Or any other valid concern to be awarded marks) | %

(b) | Explain any two functions performed by the Central Pollution Control Board (CPCB).
Ans. Functions performed by the Central Pollution Control Board (CPCB) are:

e It investigates, collects and disseminates information relating to water, air and 1

land pollution.

e It lays down standards for sewage/trade effluent and emissions. 1

(Any other valid function to be awarded marks)

(¢) | Elaborate any two strategies to ensure sustainable development as adopted by India.

Ans. In order to ensure sustainable development, following strategies are adopted by
India:

* Use of wind energy: In areas where speed of wind is usually high, windmills are used | 1 1
to generate electricity without any adverse impact on the environment.

* Use of solar energy: With the help of photovoltaic cells/solar panels, solar energy
can be converted into electricity. This technology is extremely useful for remote areas | 114
and is free from pollution. (Any other valid strategy to be awarded marks)

% %k ¥
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